
Av"ea Calculatian Sheet &s per Approued Layout Plaru

PROPOSED PROTECTED FOREST LAND TO BE DIVERTED FOR ENTRY'EXIT APPROACH TO
BPCL RETAIL OUTLET ON DEORTA-KASIA ROAD (SH-79) tN KM NO. 11, (CH. NO.

{00 RHS} AT GATA NO. - 418, VILLAGE:-SlRSlA, TEHSIL:- DEORIA,
DISTRICT:- DEORIA (U.P.).
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Area of Entry approach to retail outlet
.-, = Area of Curve Polygon(A 82 A1) + Area of rectangle (B 81 A2 A1)

Area of Curve Polygon(A8241) Area of rectangle (B 81 42A1)

= {( 11 xr1)- (n x 11 xr2)t4! = { Length(m} xwidth(m)}

= {(13.0m x 13.0m) - (3.14 x13.0 x13.014)} = (11'50m x 19'36m)

= (169.0 - 132.665) Sqtul = 222'64 SqM

= 36.34 SqMI

So, Area of Entry approach to retail or"rtlet = {36.34 + 222,641$qM = 258.98 SqM

Area of Separator = Area of rectangle (81 Cl D2 A2l

Area of rectangle (81 C1 D2 AZ)

= { Length(m) x width(m) }
= (12.0m x 19.36m) Sqlvl

= 232.32 SqIVI

Area of Exit approach from retail outlet

L ''Area of Gurve Polygon(C2 D D1) + Area of rectangle (C Cl D2 Dt)
Area of Curve Polygon(C2 D Dl) Area of rectangle (C C1 D2 D1)
= {( 11 x 12)- (n x 11 xr2l4) = { Length(m) x width(m) }
= i(13.0m x 13.0m) - {3.14 x'13.0 x 13.0/4)} = (11 .SOm x 19.36m)
= (169.0 - 132.665) Sql\4 = 222.64 SqM
= 36.34 SqM

So, Area of Exit approach from retail outlet = {36.34 + 222,641SqM = 258.98 SqM

Total Froposed Protected Forest Area for Diversion
= 258.98 SqM (Entnyl + 232.32 SqM {ForestArea BIW Entry & ExiQ + 258.98 SqM (Exit}

= 750.28 Sqm = 0.075028 Ha.

\,'[<0"1 \<ur,ai"-:ri (e{ l-qvqNon-Forest Land/Private Land Area as per Layout Plan

= Private Land area = area of parallelogram shape plot BCHI = {base (m) x
= (35.0m x 35.0m) = 1225.A SqM = Q1225Ha.

n&ffitffiioteurn
" 

1, , ,"r 'rii1rli , Lrd,

tr\ rr[d

(Auth

Bharat Petroleum Corporation Ltd.
Gorakhpur Retail Territory
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